H & 0l & AHS B Ml A

A SE=SAL
ma: =2 43 1))
el ZEEH X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SE =X 5,448,822 5,012,801 436,021
= 511,548
Al 179,187
- 4,758,087
ZE g7 IR0l 3,211,164 2,978,122 233,042
= 511,548
Al 179,187
- 2,520,429
EgT 24 1,487,254 1,582,484 A95,230
= 134,818
Al 40,444
- 1,311,992
Zll= Hel 24 & 2R 2el 307,512 274,138 33,374
101 e124d| 76,212 92,838 16,626
M ORINZZ2NSE S 76,212 92,838 216,626
Oogadae| JIZNI22A 2=
88,3203 x3H x250! 66,240
ogRgael JIZN22A 288 7,272
- UEZE= 66,240,000 *1.65% 1,093
- MHEEE 66,240,000 * 1% 663
- IpHSEES 66,240,000 4. 5% 2,981
- IPALEES 66,240,000 *3.43% 2,273
- LReYEER
2,272,032 %11.52% 262
o2l JINZ 24 L=
300,000 34 900
OgRFA| JIZENZ2 A SXZUE
300,000 32 +13] 900
ogRae| JIZN2Z2A SE 0=
300,000& «3H *13] 900
201 et 3| 8,200 8,200
02 s3=gHl 8,200 8,200
O=zt & 22 22l &L=
185,000& «12& 1,860
Ozt & SR Al Hot+ER=
520,000 x 122 6,240
O2RE Eas) =8
50,0002 *20H A 100
206 M=l 43,100 43,100
01 M= H| 43,100 43,100
o= 2e| 5,100
- 4R 2E(23Y I)
15,0002 *200H 3,000
- OtAL, 22 S 30,0002 x35m' x23] 2,100




A SE=SAL
M m= g )13
el FEgT X4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3t & == P SSHULX &)
10,0002 +3,000= 30,000
OZM(HXI S 168)EX
50,0002 x160S Al 8,000
401 AIEHIZ SR OHYI 180,000 130,000 50,000
01 Al&HI 180,000 130,000 50,000
OZEQHZH BEAZ T4
110,000,000 110,000
OxQAHzH BHAS ST2
20,000,000& 20,000
Ol =8 ZFAZS EX(FUHA0A)
50,000,000 50,000
CAlssE 29 2 APE 2L 850,484 801,908 48,576
101 e124d| 503,222 567,016 A53,79%4
M ORNZZ2NSE S 503,222 557,016 N53,79%4
O=At2tel JIZtHMZ22 A 24
88,3203 x202H x250 441,600
O=Ati&el JIZN2 24 288 43,622
- UEZE= 397,440,000 *1.65% 6,558
- MHEEE 397,440,000 * 1% 3,975
- RS RES 397,440,000 *4.. 5% 17,885
- AL EES 397,440,000 *3.43% 13,633
- LolEYRYRea
13,632, 1922 %11.52% 1,571
O=Xt2el JIZHZ2 24 L=
300, 000& x20H 6.000
O=Xt2tel JIZEMZ22 A SAZUE
300,000 +20& x13] 6,000
O=Ati&el JIZHN22A Z 0=
300,000 x20& *13] 6,000
201 =3 48,032 47,292 740
01 At22t2l] 16,980 16,240 740
OALEHEESHENZE 45,0003 *102 450
OtE ¥ Jt= Tloi=+ S ISt 12,540
- =240 g 660,000 ~4! 2,640
- otZJ| St St 660,000& 152 9,900
OSSR E=J| Ut
70,0003 * 122 840
O=Xzels EXRtz(122m)
2,450,000& 2,450
O=sXzeld IsH(SEI], 5t&| 225
s) 340,000 %1 340
O=X2eld sHdses N3
30,0002« 12& 360
02 S5=2g4l 31,062 31,062 0




A SE=SAL
M =2 943 91
el FE2dT 24 (Gt H2)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O=sXH 2el 8JIes
378,000 * 122 4,536
O=Al &l dotr 2=
1,129,000 x 122 13,548
O=Xthztel Saes(C)
120,000 * 122 1,440
O=sX&Hl sXl2el 250,000 43 1,000
O=XIEHl 22l
1,6733 %2502 | E1+73] 2,928
O=XU & 8, JIIAE EEH
65,0002 204 2x23] 2,600
o=l S 2+ & &IIAE ZHl
5,000,000& 5,000
203 HR=AH] 1,000 1,000
03 A=A H =AY 1,000 1,000
O=Xzd =& L SHASAHE A
1,000,000& 1,000
206 M=l 32,400 32,400
01 MHZH| 32,400 32,400
Oz & =Xl S 2l 6,400
- SAHACR (M S)
25,0002 *16H 400
- A== Zdl M 10,0003 »2002= 2,000
- =20t S JIEt=Z
20,0002 *200H 4,000
O=9f & Hold 2l 20,0002 *500H 10,000
Ox== tHlg s 20,0003 »250% 5,000
ORAE =5 & 7 3,000 *2,000== 6,000
ORRA MUZFE S +222
1,000,000 %52 5,000
305 a2 S 5,000 5,000
01 Bie=s 5,000 5,000
Ozditiats, =otiies S
5,000,000& 5,000
401 AIEHIX R0 255,000 155,000 100,000
01 A28l 255,000 185,000 100,000
OJt2= 24X 24 & FHI&Y 70,000
- 24 1,000, 000& x20== 20,000
- &3 200,000 2005 40,000
- AM==0f ZH| 100,000 *1007H 10,000
OZgAZ FoldE &S (FUHA0A)
40,000,000 40,000
Ootivis 22 #isd =4
80,000,000 80,000
ONatIe=(UE=) Yl
1,000,000 «20== 20,000




A SE=SAL
ma: =2 43 1))
el FEgT X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o=l == £ AI2= &Hl
30,000,000& 30,000
O== &M= S W= xelbl
15,000,000 15,000
405 KHaHE SH 5,830 4,200 1,630
01 Tt =S F=H 5,830 4,200 1,630
O&JISEH22TI 1,200,000 «1CH 1,200
OX&EEII 880,000 *1CH 880
OFSESP) 650,000 *3CH 1,950
Otl=2| 600,000 *3CH 1,800
A == & AIE 22 30,000 30,000 0
401 AIEHIZ SR HYI 30,000 30,000
01 Al&HI 30,000 30,000
OFAL =5 & Al 22 30,000,000 30,000
M= JHRD| 34,712 34,716 Yavi!
= 17,3%
Al 5,206
- 12,150
401 AIEHIZ R HYI 34,712 34,716 Yavi!
= 17,356
Al 5,206
- 12,150
01 AlZ28| 34,712 34,716 N
OZEXIIHI1(20ha) 34,712,000 34,712
= 17,3%
Al 5,206
- 12,150
N 44,000 22,000 22,000
= 22,000
Al 6,600
- 15,400
401 AIZHIX 20 44,000 22,000 22,000
= 22,000
Al 6,600
- 15,400
01 Al&H| 44,000 22,000 22,000
OO0IMEX M2 =& (2ha) 44,000,000 44,000
= 22,000
Al 6,600
- 15,400
XA 2l 29,622 29,622
201 Ler=23 | 4,622 4,622
01 At2teltl 4,622 4,622




A SE=SAL
ma: =2 43 1))
el ZEEH X4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oal=d A S| 8,000& *300& 2,400
OASY #Al P82}
61,7002 *10H 62
OSHIXT HDE &40t
61,7002 *350H 2,160
206 M| 25,000 25,000
IEET 25,000 25,000
ML RHEX =78 42 S 2| 20,000
- dE=TE 2
10,00024+2,000% 20,000
O+2 258 NxS 20
5,000&*1,000=F 5,000
OIMIZHA Mg Sz 135,600 135,600 0
= 67,800
Al 20,340
- 47,460
401 AIEHIZ SR HYI 135,600 135,600 0
= 67,800
Al 20,340
- 47,460
01 A28l 135,600 135,600 0
O32=IH201(50ha) 135,600,000& 135,600
= 67,800
Al 20,340
- 47,460
Ol Jt30| 17,3% 0 17,3%
= 8,678
Al 2,603
- 6.075
401 AlZHIZ S 0HbI 17,356 0 17,356
= 8,678
Al 2,603
T 6.075
01 Al&H| 17,356 0 17,356
OB LIRIt3 D1 (10na) 17,356,000 17,3%
= 8,678
Al 2,603
- 6,075
A= 0= 37,968 0 37,968
= 18,984
Al 5,695
- 13,289
401 Al HIZL S 0HYI 37,968 0 37,968
= 18,984




A SE=SAL
ma: =2 43 1))
el FEgT X4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,695
T 13,289
01 Al&H| 37,968 0 37,968
O/t 022137221 (10ha) 37,968,000 37,968
= 18,984
Al 5,695
- 13,289
S XHoH X 1,723,910 1,3%,638 328,272
= 376,730
Al 138,743
- 1,208,437
HeEg 2l 56,055 123,327 N67,272
= 44,374
Al 2,477
- 9,204
401 Al HIZ R 0HbI 56,055 24,626 31,429
= 44,374
Al 2,477
- 9,204
01 AlZH| 56,055 24,626 31,429
OTlsioAtE 2l (102) 980,000 980
= 686
Al 88
- 206
Onlsieis MEHA (102)
1,080,000& 1,080
= 756
Al 97
- 227
O LIS AL (15ha) 42,795,000& 42,795
= 35,002
Al 1,284
- 6.419
OEz=Hel =T(200=2) 11,200,000 11,200
= 7,840
Al 1,008
- 2,352
2ErEHE LA 28,590 25,539 3,051
= 18,960
Al 2,888
- 6.742
401 Al HIZ S 0HbI 28,590 25,539 3,051
= 18,960




2A:

X XH -
o=

TA=X Dt
=2 47 I
Al

Che: A THOH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,888
T 6,742
01 Al&H| 28,590 25,539 3,051
O&2B2 X LHLIREAH 10ha)
23,550,000& 23,550
= 16,440
Al 2,133
- 4,977
OJIEL EaliE 5,040,000& 5,040
= 2,520
Al 755
- 1,765
AITHOH L Ktel (A H G S 0= 2RI EH) (Z A 146,427 91,442 54,985
= 73,212
Al 21,966
- 51,249
101 @124H| 133,267 78,282 54,985
= 66,632
Al 19,992
- 46,643
M ORNZZ2NSE S 133,267 78,282 54,985
OUIZ YRS SH(1HE 63)
133,267,000 133,267
= 66,632
Al 19,992
- 46,643
201 2= 13,160 13,160 0
= 6,580
Al 1,974
- 4,606
01 AtR2t2|HI 8,160 8,160 0
OXtzr LXH1H) 8,160,000& 8,160
= 4,080
Al 1,224
- 2,856
02 s3=gHl 5,000 5,000 0
OUZLH Ul FA2ACH $ =57
5,000,000 5,000
= 2,500
Al 750
- 1,750
A THOH L Ktel (S EHSH LM EL) (KH2) 4,276 2,852 1,424
= 2,138
Al 641




=Xt
=2 43 IR
AT X

2|

==

o

prn
=)

K
X XH -

o™

of
i’
oF
uJ

el
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KIO

Hlw

1,424

1,424

MEE
Ofl &k2h

2,852

2,852

ol &rey

1,497
4,276

2,138

fir

641
1,497
4,276
4,276

2,138

Al

i

- SRA(E) - HIRAY

- ESS

S - B

b ]

405 Xt

D
ur
H0
Ol

01 Xbatsd

4,276,000&

KO
ulo

[0
!
Al

100,671
36,931
36,931

900
900

207,303
207,303
51,290
37,700
13,590

285,593

641
1,497
386,264
211,968
23,266
3,498
2,120
9,539
7,271
838
3,000
3,000
3,000
52,190
37,700
500
2,000
2,000
2,000
3,000
1,000
1,600
14,400
7,200
4,000
14,490

244,234
244,234

Al
1%3.43%

211,968,000 * 1%
211,968,000 4. 5%
300,000& *10H
300,000& *10H
300,000& *10H
10,0002 +502
100,000 +200H
200,000 *100H
200,000 *100H
10,0002 *3000H
10,000& *100&
8,000& 200
0,0002 ~4F+60!
8,000& »4H »2252
20,0002 «200&

7,270,5002+11.52%

88,3203 10 240!
211,968,000 *1.65%

211,968,000

FXERH = OH

Jtdl

[=]
[uind

A X
101 2124d|
N

3

04 JIZtNZ22 NS+

01 AtR2telbl

Ak




A SE=SAL
ma: =2 43 1))
=l A THoH X (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oat=&3t Izt &8l A=Y
2,000 *5CH*3AI2H+60 1,800
OREI| A L 221H]
50,0002 = 10CH 500
OJlstt=2ZAIE 01X HE
60,0002 »15CH*8Z 7,200
OIISHSUNE 01 22y
200,000 = 15CH 3,000
OttEdlsl S5l T2l
100,000 * 10CH 1,000
Q&2 CV(e87EA2) Stlea
82,500 122 990
203 HR=H] 2,000 2,000
03 A=A PR 2,000 2,000
OB USAHE & MEZAIE 2
2,000,000 2,000
308 AtAIEHMSOIE 40,840 40,840
07 HXHH 2L FRE52 40,840 40,840
Out=dstE I &gxt 40,840,000 40,840
401 AIEHIZ R HYI 25,000 25,000
01 Al&H| 25,000 25,000
Ogk & E2H S 23td AFAY
150, 000& * 15ha* 10&! 22,500
OAE =9 2lal=d MA
250, 0002 «2ha*5& 2,500
405 AtaHE = 22,000 22,000
01 ML ESFISHI 22,000 22,000
OFUE & M8 LIXE R&I| 22,000
- FlE 28| 792,000 *20CH 15,840
- gE 28| 1,210,000 +3CH 3,630
- &XHl & =5FAHI S
2,530,000 2,530
MNIFR22E 23 18,868 7,909 10,959
= 18,8068
301 EtE N = 18,868 7,909 10,959
= 18,868
0 AR=SR224= 18,868 7,909 10,959
OstdEs 2HAl (3H) 18,868,000& 18,868
= 18,868
S&E Fhl 224,997 180,626 44,371
101 e124d| 110,707 102,096 8,611
M ORNZZ2NSE S 110,707 102,096 8.611
Oodatgare] JIZRH22X 24
88,3202 x6H 180! 95,386
Odtgldie] D222 A 4028 s 9,921




A SE=SAL
Zu: =2 g 30|
Che: A THOH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1ELE= 90,374,400 *1.65% 1,492
AN L=b= = 90,374,400 * 1% 904
- UHSEEE 90,374,400 +4. 5% 4,067
- IpAHLEES 90,374,400 *3.43% 3,100
- Lo RSEE=
3,009,840 *11.52% 358
Odtglaie] JIZHHZ22 At LI=h|
300,000 6 1,800
Odtg2te] JI2tH22A 280 =
300,000 «6& 1,800
Odatgdate] JIZR2Z2 N SAEUE
300,000 6 1,800
201 er2 3| 14,290 8,530 5,760
01 AtR2t2|HI 6,100 3,400 2,700
OsXzels M U=
100,000 122 1,200
OZHdl St 550,000 *42] 2,200
Odtgize|d II=HI(SEYI, otE)| 2285
s) 340,000 14 340
odtg2eld sidses N
30,0003 x 12 360
OS2 W= 2,000,000& %12 2,000
2 S52g4l 8,190 5,130 3,060
Odtgl W s XIE0D| &JIes
60,0003 x8H A+ 123 5,760
Os=t AEE =23
55,0002 6 330
OS¢Z Y7 SHXE0D| FA2el
300,000 74 A 2,100
401 Al HIZL S 0HYI 100,000 70,000 30,000
01 Al&HI 100,000 70,000 30,000
Odtg defuet A2 M
2,000,000 *25ha*12] 50,000
O&HXl L EoAE X & JHI
50,000,000 50,000
AERIAFEEAIE 81,000 81,000 0
= 56,700
Al 17,010
- 7,290
401 AIEHIX R0 81,000 81,000 0
= 56,700
Al 17,010
- 7,290
01 Al&H| 81,000 81,000 0
OAEXIAF2 (1ha) 81,000,000& 81,000
= 56,700




2A:

X XH -
o=

TA=X Dt
=2 47 I
Al

Che: A THOH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 17,010
T 7,290
AITHOH L Kbl SHOI(AFAMER S 2ol 2 Et) 59,882 56,500 3,382
= 23,953
Al 10,778
- 25,151
101 @124H| 59,882 56,500 3,382
= 23,953
Al 10,778
- 25,151
M ORNZZ2NSE S 59,882 56,500 3,382
OLAIEHBIZ I EH(1HE 43))
59,882,000 59,882
= 23,953
Al 10,778
- 25,151
=l MESXEZY /S 2 N 85,998 79,428 6,570
= 42,999
Al 30,099
- 12,900
307 @I2t01 & 85,998 79,428 6,570
= 42,999
Al 30,099
- 12,900
05 212+ =S 85,998 79,428 6,570
O=dild sHE=ENNEY A 29
85,998,000 85,998
= 42,999
Al 30,099
- 12,900
AZAIE 220 OlaRR & 1,980 1,540 440
= 1,386
Al 415
- 179
401 AlZHIZ S 0HHI 1,980 1,540 440
= 1,386
Al 415
- 179
01 Al&H| 1,980 1,540 440
OATZAIE 222 0I4F 2 EH(9HA)
1,980,000 1,980
= 1,386
Al 415
T 179




A SE=SAL

ma: =2 43 1))

Che: A THOH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=MEd gl 10,000 30,000 220,000

401 Al HIZL 201 10,000 30,000 220,000
01 Al&HI 10,000 30,000 /20,000
085S =HEE FHI(IEA PasAS
HE LK) 5,000,000& 5,000
Os=4 B33 E 5,000,000 5,000
dEjnetdE EIX A 40,000 40,000 0
= 20,000
Al 20,000
401 Al HIZL 201 40,000 40,000 0
= 20,000
Al 20,000
01 Al&HI 40,000 40,000 0
Odtfuetdl=E EXIA 40,000,000& 40,000
= 20,000
Al 20,000
AETHOH L X2l (A ST 20 LRI SHH) 143,850 129,737 14,113
= 57,540
Al 25,893
- 60,417
101 @12A4H| 143,850 129,737 14,113
= 57,540
Al 25,893
T 60,417
M OIRINZZE2NSE S 143,850 129,737 14,113
Ou2d2 ol Xt (98)
143,850,000 143,850
= 57,540
Al 25,893
T 60,417
THtate 2el (4t 3,316 3,316 0
= 1,327
Al 596
T 1,393
201 er23 | 3,316 3,316 0
= 1,327
Al 5%
- 1,393
01 AtR2t2lt] 3,316 3,316 0
OttEdel £250i4| 1,492,000& 1,492
= 597
Al 268
- 627




=Xt
=2 43 IR
AT X
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1,843
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MEE
Ofl &k2h

1,300
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14,750

14,750
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Ofl &F2H
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766
1,300
520
234
546
1,300
520
234
546
1,300

1,824

520
234
546
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2,323
5,421
12,907
5,163
2,323
5,421
12,907
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5,163
2,323
5,421
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fir
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fir
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- ESS

- SRA(E) - HIRAY
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A SE=SAL
ma: =2 43 1))
Che: A THOH X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 3%
AtAE &2 2 8,300 8,300 0
= 3,320
Al 1,494
- 3,486
401 AIEHIX R0 8,300 8,300 0
= 3,320
Al 1,494
- 3,486
01 Al&H| 8,300 8,300 0
OMZLEAE ST L B4
8,300,000& 8,300
= 3,320
Al 1,494
- 3,486
SPAMEHF F XIS 2l 2,100 7,000 24,900
= 1,050
Al 315
T 735
401 Al HIZL 201 2,100 7,000 24,900
= 1,050
Al 315
- 735
01 Al&HI 2,100 7,000 24,900
OMAIEN 28 2T AEIFA 24 (3HA
) 2,100,000& 2,100
= 1,050
Al 315
- 735
A =42 7,000 7,000 0
= 4,900
Al 1,470
- 630
401 AIEHIZ R HYI 7,000 7,000 0
= 4,900
Al 1,470
- 630
01 A28l 7,000 7,000 0
OAed ZE(10H2) 7,000,000 7,000
= 4,900
Al 1,470
- 630
S5 HEAA LA WU SA 400,000 0 400,000




A SE=SAL
ma: =2 43 1))
=l A THoH X (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 400,000 400,000
01 Al&H| 390,000 390,000
O3 A 390,000,000& 390,000
02 Zeltl 10,000 0 10,000
OZatl 10,000,000 10,000
oGt JHRE S 2 1,718,702 1,526,032 192,670
SEF X2 1,718,702 1,526,032 192,670
HHst & & 1A 1,248,702 1,096,032 162,670
101 @124H| 745,305 619,807 125,498
M ORNZZE2NSE S 745,305 619,807 125,498
Os3 el JIZtHZ22 4 2
88,3202 x 182 +330 524,621
Ozl JI2tHZ22 A 288 54,55
- 1ELER 497,060,000 x1.65% 8,202
- MEE=E 497,060,000 * 1% 4,971
- IPHSEES 497,060,000& *4. 5% 22,368
- FUALEEE 497,060,000 *3.43% 17,050
- LRSI
17,050,000 *11.52% 1,965
OS&ts JI2ZHHZ22 X 2124H|
83,6803 x5 +330 138,072
O3S JIZtNZ22 i 28= 15,156
- UEZE= 138,072,000 *1.65% 2,279
- MHEEE 138,072,000 * 1% 1,381
- RUASEER 138,072,000 4. 5% 6,214
- AL EES 138,072,000 *3.43% 4,736
- LRRSEER
4,736,000 x11.52% 546
OJIZtHZ22Xt ¢EEsS3 Y 1=H|
300,000& 23S 6,900
OZ 3t JIZRZZ2N SAEIE
300,000 x5 +23] 3,000
O33Hs JI2tH22A SE280=
300,000 x5 *23] 3,000
201 =3 202,597 170,825 31,772
01 AtR2t2l] 36,442 28,430 8,012
O3l 88 5,380
- ObLf2rEt 200,000 =8 H 1,600
- g 37,8002 *1000H 3,780
OoopItHEd 8Ll 88 E N2+
E 350,000 23] 700
OsaFA2el £A2F 8,650
- stEd A 33,0003 502 A 1,650
-E3AER L EE S 20,0003 %2008 4,000




A SE=SAL
= Aot JRe 2
el SR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 0DIt, gotsd MU=
400,000 62| 2,400
- H3ZE HiotEa 24
30,0003 205 600
OZ3&2tel Xt 660,000& *202] 13,200
OBsIZY 2BTAIS 224Y
60,0002 x2Z*9 1,080
OZst=d I3 AIE S4lH|
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